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Munsell System Y,,=100,
C=2,V=1,2,5,8&9,
chromaticity (x,
ety (x.))

%y=0,3140y,,=0,3243
Ao=(ag-[30,n*30 atap,y]) Y
Bo=(bo=[bo,n*bo,a*bo,v]) Y
g = agg [X/y]
by = bao [2/Y]
ay=1, byp=-0,4

n = Mex -10 n = Mex -10
2625 ag,y=ay(Y/Y1g-1) 2625 80,v=a(Y/Y1g-1)
9495¢,E bo,y=bay(Y/Y1g-1) 9795¢,E by y=hoy(Y/Y14-1)

apy=-0,0170,y=0,012
ag A=0,018,by A=-0,013

CIE 1931 X Munsell System Y,,=100,

X,=96,79,Y,,~100,00Z,~111,46 B,
10

Ao

520 Munsell System Y,,=100,
15223\ C=2,V=1,2,5,8&09,
chromaticity (x,
chyomaticty (x.3)

CIE 1931 X

X,,=96,79,Y,,=100,00Z,,=111,46 B*
xw=0,3140y,,=0,3243

* 0=(@g~[80,i*a0,4*30,v]) Y1g(Y/Y19) /3
B o=(bg~[o,+bo,a*bo,v]) Y1e(Y/ Y19 /3
ag = ago [X/y]
bg = byo [/

=1, byp=-04

a,7-0,017,55,=0,012
ap,a=0,018,by A=-0,013
Munsell System Y,,=100,

A*,

T C=2,V=1,2,5,8&9, T-10 X C=2,Vv=1,2,5,8&9, -10
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ag, Bo) 0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*()
CE690-1A 6 CE690-2A 6 CE691-1A 6 CE691-2A 6
X,=96,79,Y,=100,00Z,~111,46 B, X,=96.79,Y,=100,00Z,~111.46 B, X=96,79,Y,,=100,00Z,=111,46 B* X,=96,79,Y,,=100,00Z,~111,46 B*,,
%w=0,3140y,,=0,3243 Xy=0,3140y,,=0,3243 EST Xw=0,3140y,,=0,3243 10 %w=0,3140y,,=0,3243 Lo

Ar=(ag~[ag ntag atay v) Y
By=(b1=[by,ntby atby v]) Y

a1 =ay [(x-0,171)/y]

Ax=(ay-[ag ntap atao vl) Y
Bo=(by=[b b atbp v]) Y
8y = a0 [(x-0,179y]

A 1=(31‘[31,n+31,A+31,v])Y18(Y/Y15)1;3
*1=(by=[by tby by v) Yae(Y/Y19) /3
ay = apo [(x-0,17D/y]

A* 2:(32_[a2.n+a2.A+aZ.Y])Y18(Y/Y18)l;3
B* 5= (D5 [z, +bp, A*b2 v Yae(Y/ Y1) /3
ay = ayp [(x—0,17D/y] 4

by =byo[2/4] ;=50 [(MpyX+hp)/y] by = by [2/4] b=z [(Mp1x+bpy)/y]
80=1, byp=-04 A ay=1 by=-04 F\ A =1, byp=-04 A* 80=1, by=-04 A*
& mp1=1,000, 1 mo=—0,1600520389 (N 02 mr;=1,000, 1 Mp1=-0,160,b5,=0,389 2
(_-2 n = Mex 10 n = Mex —1 rJ i i 10 n = Mex -10 10 n = Mex ~10 10
= ag y=agy(Y/Y1g~1) ay y=agy(Y/Y1g~1) ay y=a(Y/Y1g-1) EX ay y=agy(Y/Y1g-1) EX
5 . by v=boy(Y/Y1g-1) by y=boy(Y/Y1g-1) by y=bay(Y/Y1g-1) 02 y=bay(Y/Y1g-1)
T ayy=-0,013,b,,=0,008 ayy=-0,013,b,,=0,008 T a2y=—0,013,b2y=0,008 azy=—0,013,b2y=0,008 T
o a3 4=0,014,b; ,=-0,008 a A=0,014,b, A=-0,008 ay 4=0,014,b; ,=—0,008 a 4=0,014,b, A=-0,008
Q Munsell System Y,,=100, Munsell System Y,,=100, Munsell System Y,,=100, Munsell System Y,,=100,
W w w W
O C=2,Vv=1,2,5,8&9, T-10 C=2,V=1,2,5,8&9, T-10 C=2,V=1,2,5,88&9, C=2,Vv=1,2,5,8&9, T-10
m chromatic value (A, B;) chromatic value (A,, B) chroma (A*;, B*4) chroma (A*,, B*»)
o)) CE690-3A_6 CE690-4A 6 CE691-3A_6 CE691-4A_6
© Xw=96,79,Y,,=100,00Z,~111,46 B, Xw=96,79,Y,,=100,00Z,~111,46 B, Xu=96,79,Y,~100,002,~111,46 B*, Xy=96,79.Y,=100,00Z,~111,46 B*
o X=0,3140y,=0,3243 10 %=0,3140y,,=0,3243 10 *y=0,3140y,,=0,3243 20 X=0,3140y,=0,3243 10
m Ag=(ag-[ag ntag atagy]) Y As=(ag~[ag nta, atau,yl) Y A*3:(33_[33,n+a3,A+a3,Y])Y18(Y/Ylﬂ)5§ *4:(a4_[a4.n+a4.A+a4.Y])Y18(Y/Yla)1;g
o) B3=(bg=[b3,rtbs atbs v]) Y B4=(b4=[04,rtbs, atba v]) Y * 37(b3=[l03 03 AtD3 v]) Y15(Y/Y19) B* 4=(b4=[bs,n*bs a+ba v]) Y15(Y/Y15)
© a3 = ao [(x-0,17/y] 4L ay = ag [(x-0,172/y] a3 = a0 [(x-0,172/y] 4 ay = a [(x-0,179/y]
'I b=y [(Mpx+bp1)/y] b=y [(Mpyx+hp)/y] b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
2= 1, by=-04 A a0 =1, byg= -0, A ay=1,by=-04 A* =1, by=-04 A*
— Mp1=-0,974,b;=0.658 3 Mpi=—0,169.b 4 mp=-0974b,=0658 A : \2 Mp;=-0,169,0p;=0,39 : g
< n = Mex ~10 10 n = Mex n = Mex ~10 10 n = Mex ~10 10
ag y=apy(Y/Y1g-1) ex ay y=apy(Y/Y1g-1) ag y=agy(Y/Y1g-1) LiCX ay y=ag,(Y/Y1g-1) hex
b3 v=boy(Y/Y1g-1) by y=boy(Y/Y1g-1) b3 v=boy(Y/Y1g-1) by v=byy(Y/Y1g-1)
ayy=-0,013,b,,=0,008 T ayy=-0,013,b,,=0,008 a2y=—0,013,b2y=0,008 T azy=—0,013,b2y=0,008 T
a3 4=0,014,b5 4=-0,008 a,4=0,014,b; 5=-0,008 ag =0,014,b; =-0,008 a4 4=0,014,b; 4=-0,008
mmonengeo | e momeniwo | monngeo |
chro}natic’vélué Az, ég) chro’maticy vélué Ay éa) chroh‘la (A'*3Y, B’*g) ' chro}na (A’*4', BY*A) ’
CE690-5A_6 CE690-6A_6 CE691-5A_6 CE691-6A_6
Xw=96,79,Y,,=100,00Z,~111,46 B, Xw=96,79,Y,,=100,00Z,111,46 B, Xu=96,79,Y,~100,002,~111,46 B*, Xw=96,79,Y,,=100,00Z,~111,46 B*
X=0,3140y,,=0,3243 10 %y=0,3140y,,=0,3243 10 *=0,3140y,,=0,3243 Lo X=0,3140y,=0,3243 L0
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* 6=(26-[6,i* a6, 43 v]) Y1s(Y/Y19) /3
B 6=(b6~[Ds,+b5, A*b6,v]) Y1e(Y/ Y19 /3
ag = ag,{xly] il
bg=hay [(Mp1x+bp1)/y]
85,=1,00,b,,=-0,40
mp;=—0,974,bp,=0,658

*&=(as[as n+as a+as v]) Yig(Y/ Y19 113
B*5=(bs~[Ds,i*bs *bs,v]) Y1g(Y/ Y1913
a5=a,,{(0,861x-0,719-0,026)¥]
bs=h,,{(0,19%+0,386/~0,240))]

As=(a5~[as ntas atas v]) Y
Bg=(bs—[bs,r+bs a*bs v]) Y
a:=2,,](0,861x-0,719~0,026)§]
be=by,{(0,199%+0,386/~0,240)§]
a,=1,00,b,=1,00

A.6.y,R=475,503,574,494c,

Ag=(3g=[86 ntag atas v]) Y
Bg=(bs~[bg,n*b6,a*bs ) Y
ag=a,{x/y]

b=y, [(Mp1x+bp1)/y]
a9=1,00,b,,=-0,40
Mp1=-0,974,b;=0.658
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As A*g

n = Mex _10
ag v=ay(Y/Y1g-1)

bs v=boy(Y/Y1g-1)
apy=-0,001,b,y=0,000
a5 4=0,001,b5 4=-0,000
Munsell System Y,,=100,

10 n = Mex -10

X ag y=apy(Y/Y1g-1)

b y=boy (Y/Y1g~1)
apy=—0,016,0,y=0,006
ap 4=0,018,b5 A=-0,006
Munsell System Y,,=100,

A, a,=1,00,b,=1,00 A*

M,6.v,R=475,503,574,494¢,E nm 5

10 n = Mex -10 10
a5 y=ap(Y/Y1g-1) ex

b5 y=bay(Y/Y1g-1)
a,=-0,001,b,,=0,000
a5 4=0,001,b5 4=—0,000
Munsell System Y,,=100,

n = Mex —10
g y=a(Y/Y1g-1)

g, v=byy(Y/Y1g-1)
ayy=-0,016,b,,=0,006
ap,4=0,018 b5 o=-0,006
Munsell System Y,,=100,

10

C=2,Vv=1,2,5,8&9, -10 C=2,V=1,2,5,8&9, T-10 C=2,V=1,2,5,8&9, T-10 C=2,Vv=1,2,5,8&9, T-10
chromatic value (A, Bs) chromatic value (Ag, Bg) chroma (A*g, B*g) chroma (A*g, B*¢)
CE690-7A_6 CE690-7N CE690-8A_6 CE691-7A_6 CE691-7N CE691-8A_6
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TUB-test chart CE69, y), chromatic valuesA;, B;), chroma A*;, B*;), adaptation: 5A#0, 5Y#0
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Munsell Chroma2, Value=1,2,5,8 &9; experimental illuminant M (X, Y)vex=(0,3140, 0,3244)
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